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weT — 1041
fawg — w1fora
Ay — 3 gve 15 e quiids — 80
1, IGaTT TG JAPIR —
4. SEG! 3[hHHR yfererd
1. | S 20 25%
2. | oraqr 21 26.25%
3. | SR / srfveafdd 19 23.75%
4. | ®IETe /Hiferdhdl 20 25%
ART 80 100
2, Je i & YBRAR JHHR —
. Yl Bl bR gl bl | 3b B 3D gfderd gfderd | |wifdd
4. =T | ufd gz (it ®1) | (remiwr) | HEY
1. aqgf%m 15 1 15 18.75 29.41 30
2. | Raa w@m= 7 1 7 8.75 13.72 15
3. | aifcreTeRTHS 10 1 10 12.50 19.61 35
4. | THIRTHD 12 2 24 30.00 23.53 45
5. | STdSTR 4 3 12 15.00 7.84 35
6. | MduTH® 3 4 12 15.00 5.89 35
ART 51 80 100 100 195 fAeTe
fdhey IoHT : 9ve 4 Ud § H &
3. fawg g% &1 SHUR —
Eksh faw I PR | Ul
1 | arafde = 4 5%
2 | 9gus 4 5%
3 | &I R drel XRgep FHIHRYI A 4 5%
4 | fgara \HiaRor 4 5%
5 | AR SAforn 6 7.5%
6 ﬁﬂ\_rl 4 5%
7 | fAewme sarfafa 7 8.75%
8 | Bomfafa &1 uRew 8 10%
9 | PepIvi#fd & SrguarT 5 6.25%
10 6 7.5%
11 | 9ol | Fwfd eawd 5 6.25%
12 | S 9% 3R Smga- 6 7.5%
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TS — 3
Section— A

Jgfapedia g :

Multiple Choice Questions :

1 g gl & IR BT el f[Adbed o9 R IR gRadr 7 forfay —
Choose the correct option to answer the following objective questions in the answer
sheet-

i. A3 96 3R 404 P HAH. BRI —
@) 16 @) 12 (@) 8 ) 4
HCF of numbers 96 and 404 will be -
(a) 16 (b) 12 (c) 8 (d) 4 [1]

ii. 9 9gUsp (x) =x*—2x- 153 YD ad b &l AT ab HT AT BN —

@) 15 @) —15 (@) 5 ) 2

If the zeros of the polynomial p (x) =x*—2x - 15 are a and b, then the
value of ab will be —
(a) 15 (b) -15 (c)5 (d) 2 [1]

ili. 2 3, 4,5 6 @ A\d (\ARY) BT —
(1) 2 @ 3 @) 4 @ s
The average (mean) of 2, 3, 4, 5, 6 will be —

(a) 2 (b) 3 (c) 4 (d) 5 [1]

iv. A 2x+y=68 Al 3H A= B ATl ITH BT
@) (1. 2) @ @ 1) ®) @ 2) @) (. 1)
If 2x+ y = 6 then the pair to satisfy this, will be- -

(a) (1,2) (b) (2,2) (c)(2,2) (d) (1,1) [1]



vi.

vil.

viil.

1X.

Ife AP BT YUH UT 6 3R AT 3R 3 8 I AP B —
@) 6,9,12,15, .. @)-6,-9-12,-15..........

(a)6,9,12,15, ... (b) -6, -9, =12, =15 —-mmmem-

(c) 3,6, 9, - (d) -4, -6, -9 ———mmmmeemm [1]
e 94 9 B 9w @ HAI T8 2 —
(31) PIroT—PIoT—HIr @)  oT—HToT—YSIT

(¥0)  Jom—oT— (2) IOt

Which of the following is not a criterion of symmetry?

(a) angle-angle-angle (b) side - angle-side

(c) arm - arm — arm (d) angle - side — side [1]

45 A (4,0) T B (0, 4)8! Al AB &I A&y favg BN —

@) ©. 2) @ @ o @) @ 2) (@) (2—2)
If A (4,0) and B (0, 4) are points, then the midpoint of AB will be —
(a) (0.2) (b) (2,0) (c) (2, 2) (d)(-2,-2) [1]

AABCH /BTH®BIOT & T COSA=§ 2T T Sin AT AT BRI—

) ()

aSw
—_~
|
N~—
SRS
NS

5

@) 3

In AABC, ZB is aright angle and CosA = % then the value of Sin A will be —
3 4

(a)2 (b)? (c)

Pl MR & BRI 3P SAR B IR B A gF BT ST BT B

B R4

(d)2 [1]

(@) 30° @) 60° (|) 45° (&) 90°

If the shadow of a tower is equal to its height, then the angle of elevation of
the Sun will be-
(a) 30° (b) 60° (c) 45° (d) 90° [1]



x1.

Xii.

Xiil.

X1V.

XV.

T SRR 10—25 BT o &g § —

@) 10 @) 15 |) 175 (@ 25

The class symbol of class interval 10-25 is -

(a) 10 (b) 15 (c) 17.5 (d) 25 [1]
ol g7 & = & R oR Hi= 78 el @ s’y # gt € —

(&) o (@ wR (w) wfres (3) B3%

The tangent lines drawn at the ends of the diameter of a circle are -
(a) perpendicular (b) parallel (c) Intersecting (d) borer [1]

Yol 7 WAL ATl U OFIPR @ b HUR e AgUIell @l §AT & | IgTel B
HfBTH AR & Al & —

@n 7 = @) 14 . @) 21 FH (@) 28 ¥

Side 7 cm. A hemisphere is placed on top of a cube-shaped block. The

maximum diameter of a hemisphere can be -

(a) 7 cm. (b) 14 cm. (c)21cm (d) 28 cm [1]
Uh g0 S YIS AgATT & BIVT HT A 81T 8 —

@1 30° @) 45° (®) e0° & 90°

The value of the angle of each quadrant of a circle is-

(a) 30° (b) 45° (c) 60° (d) 90° [1]

TP URY BT SBT O WR 6 X FST 3 3 B UIAHdT & —

@) o @ 1/4 @) 1/2 (@) 1

The probability of getting a number greater than 6 when a die is thrown is - (1]
(@0 (b) V4 (c) % (d) 1

AR Sofy —3,—%,2,———@ 11 @ 98 2|

(@1)22 (@)30 (@)25 ()32

Arithmetic series is —3,—=,2,— — — _ the 11th term of this A.P is -

(a) 22 (b) 30 (c) 25 (d) 32 [1]



1il.

1v.

Vi.

Vil.

il.

frferRad ueel # Raa vl @1 gfid wxd g3 Sk gRaar # forRay —

Fill in the blank spaces in the following questions and write in your answer sheet -
AP.:3,1,-1,-3F UIH UG..... Td A4 3R =

A.P. The first term of 3, 1, =1, =3 is.....and the common difference is ...

Cos%60° + Sin*60°FT T ..o gl

the solution of Cos? 60° + Sin?260° is .........

T Tq DI AT 6 WAL T HATE 8 WL 7| ¥ DI S IR 2 |
The radius of a cone is 6 cm. And height is 8 cm. The slant height of the cone is.....
qUeRd 3Albel Bl D ST DA DT G v 2l

The formula to find the median of grouped data is .............

I V& Bl T TAeT TRARAT Aad AP BT B PHEAT T |

a1 31 e @1 g 8T 1 e # MR PIOT BT AT Il & |

The value of the angle subtended by the minute hand of a clock in 1 minute

There is a probability of an impossible event.

AT THTRIAD Y -
Very short answer question:

1260 & M [OTES] P HIdid & wd H foIay |

Write the prime factors of 1260 as exponents.
I ggUG2x2 + x + kDI Th YLD 3 8 Al kDT AIF AT DI |

If one zero of the polynomial 2x2 + x + k is 3, then find the value of k.

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

(1]
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Vil.

viil.

1X.

9 URTeT T 8 U T o 54 5. T | U AISHIORNT THIEHRY & w0 ¥ forlay |

The cost of 9 pencils and 8 pens is Rs 54. Write this as an algebraic [1]
equation. .
. AE
for % DE |1 BC & afy m=oqon /\
EC 2 D E
AD=2.7cmg T DB®! W S PIOg ? )
C
In the picture DE || BC is if A== and A
n the picture DE || BC is if gg=> an /\ (1]

AD = 2.7cm then find the length of DB? Df \ P

fag P@, 4) @ X- 317 I 1 forRad |

Write the distance of point P (3, 4) from the X-axis. (1]
14 I Broar & Ml &1 Il g &athel STd BT |

Find the total surface area of a sphere of radius 14 cm. (]
TEH o9 B AT 11 FAI T4 ITDT GHIS aABel 968 I WHI & Al dol &

MR BT Frar sira HIRTT |

If the height of a cylinder is 11 cm and its curved surface area is 968 square cm, (1]

then find the radius of the base of the cylinder.

351 14 A, 9Tl TP g BT Y AT D= IR 60°HT PIOT ARG PR 8 |
Y P TS A BITG |

An arc of a circle of radius 14 cm subtends an angle of 60° at the centre. Find the [1]
length of the arc.

6 ¥R $I Th T P! BIAT 2v/3 AR AR 8 AT I BT I~ DT 1
DI |

If the shadow of a 6 meter high pillar is 24/3 meter long, then find the angle of [1]
elevation of the Sun.

20 WieR $T A4 @ A W TS A9 BT AT D17 30° § A1 BT Yol dF UgAd
foaeT X T AT BRI ?

The angle of depression of a boat from a 20 meter high river bridge is 30°. What [1]
distance must the boat cover to reach the bridge ?
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TIIRIHD T —
Short Answer Type Questions :

g T & V2 TP uRea =T 7 | [2]

Prove that V2 is an irrational number.

. 3 1 L . . ..
A FGIT 6’3 - 7x P LA S, — 2 & T LIIDT T O] D HIH B HIa

B SitE B |

If the zeroes of a polynomial 6x>—3 — 7x is%, - é , then check the truth of the relation [}

between zeroes and coefficients .

THISHRT BRI x—y + 1 = 031K 3x +2)— 12 = 0PI T B |

Solve the group of equations x-y+1=0 and 3x + 2y — 12 = 0. [2]
ABCD & w¥ed & f5eH AB || CD & @1 59a fde0l weR fdg 0 R vfiess
i A0 _ CO
PRI B o AEU fh =5 = 5o
ABCD is a trapezium in which AB || CD is and its diagonals intersect at point
A0 _ CO [2]
o then show that — = —
BO DO
X- 38 R 98 fd=g o1d Hiforg St fa=gail A6, 5) 3R B(—4,5) ¥ GAGRET 2 | .

Find the point on the X-axis which is equidistant from the points A(6,5) and B(-4,5).

frelT ST ABC % AB=24 9HI BC=7 WH TAT/B=90° § @I Sin A9 Sin C &I A
ST PITT |

In a triangle ABC, AB =24 cm, BC =7 cm and£B = 90° then find the value of Sin A [2]
and Sin C.

Teh A ST R S AFR BT BT 40 AR AP =1 8 Sl 8 Sid I Bl
I~IdI BT 60° I TEHR 30° B Ol &, HHIR B $ds od HIFT |

The shadow of a tower standing on a level ground becomes 40 meters longer when
the angle of elevation of the Sun decreases from 60° to 30°, find the height of the [2]
tower.

g IR 5 f5f g0 & o9 & AR R i 18 et v =R ekl 2

Prove that the tangents drawn at the ends of the diameter of a circle are parallel. [2]



12.

13.

14.

15.

12 T, FISAT 916l Td g0 BT ST dx IR 60°T HIVT IFIRT BT 8 | W oY
g A" ga@el & &A% A Bt |

12 cm. A chord of a circle of radius subtends an angle of 60° at the centre. Find the
areas of the corresponding minor and major circle segments. [2]

THh SIaR & THTs 5 Hex dieis 30 9 &ars 3 Mex 8| SR g9 § 20 99 X
10 WY X 7.5 WH HU BT fha-N $Si BT AMITIHAT B ?

The length of a wall is 5 meters, width is 30 cm and height is 3 meters. How many

bricks measuring 20 cm x 10 cm x 7.5 cm will be required to build a wall? [2]
f=ferRad sribsl &1 7D SITd HITI —
X 20 25 28 29 33 38 42 43
BIEESIEN| 6 20 24 28 15 4 2 1

Find the median of the following data —

X 20 25 28 29 33 38 42 43

frequency | 6 20 24 28 15 4 2 1

[2]

Tl O BT U AT bl Sl & | SHd] 7 Wfddr & f —

i. 1 Ol § A Sfd Ut B |

ii. S 9l & 3Dl BT AT 7 9IS BRI |

Two dice are thrown simultaneously. What is the probability that -

i. Equal marks will be obtained in both the dice.
ii. The sum of the numbers of both the dice will be 7. [2]
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Long Answer Type Questions :

fr=forRaa dea o1 FaaR A1ey wfedd drey fafyy | =19 S —
G 10—25 25—40 40—55 55—70 70—85 85—100
JRENT 2 3 7 6 6 6

Find the arithmetic mean of the following distribution by assumed mean method —

Social 10—25 25—40 40—55 55—70 70—85 85—100
class
interval
frequency 2 3 7 6 6 6
312 r
A faT gomm e Ud wenm & 40 faenfl & Wk @It W@ B
R fHUT § | 40—45 | 45—50 50—55 55—60 60—65 | 65—70 | 70—75
fenfefat & 3 5 10 8 7 4 3
AT

faenfofar &1 Arege MR S BT |

The distribution given below shows the weights of 40 students in a class.

weight in kg 40—45 45—50 50—55 55—60 60—65 65—70 | 70—75
number of 3 5 10 8 7 4 3
students

Calculate the median weight of students.

[3]



17.

18.

19.

ToF 100 T GATRIT &1 ANT S| Iy |
Find the sum of the first 100 natural numbers.

4T

AP.HT YUY TS UG IifdH Ug HHI: 1 TAT 11 © T §9P Ual Bl INTHhA 36 & al
el B AT ST BRI |

The first term and last term of A.P. is 1 and 11 respectively. If the sum of its terms
is 36 then find the number of terms. [3]

fa=gall P (-3,4) 3R Q (4, 5) P! Sl dTel WHRGUS DI FAAIST B dTel fawgall
@ fadena sma S|

Find the coordinates of the points trisecting the line segment joining the points P
(3,4) and Q (4,5).

31AdT
I IUTd S BT STafd a5 (=3, P) g3l (-5, 4)3iR (=2, 3)dT 3r: fawrfora
HRAT B | P T 79 1 ST BpIfeTg ?
Find the ratio in which the point (-3, P) divides the points (-5, -4) and (-2. 3). Also
: [3]
find the value of P?
fig I & &0 97 @ aRed wwicR Ty, TFagds 8 2
Prove that a parallelogram circumscribing a circle is a rhombus.

34T
g SRR % g & aRTd a9 TS BT M — A & oI dg R RS
BT FART B 7 |
Prove that the opposite of a quadrilateral circumscribed about a circle sides
subtend angles Complement on center front arms .

[3]
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Essay Type Questions:
20. ffoRad offes 225 fasTell SU@RON & UE Siaw &ral (@vel 9 ) & g <d
.
NICE A 0—20 20—40 40—60 60—80 80—100 100—120
(et #)
CIKEEIR 10 35 52 61 38 29

SUDRUT P ggcicd Sild Plel Fild DI |

The following data shows the observed life span (In hours) of 225 electrical appliances:

Life span 0—20 | 20—40 | 40—60 | 60—80 | 80—100 | 100—120
(in hours)
frequency 10 35 52 61 38 29

Find the mode life span of the appliances.
31A4dT
frfRad 971 P Algedd @ d2d & <P o9 @d qUal & | AR, O @ 18 ®

2| I« IRERAT [ G Bifo |

é Th @FG[ Eﬁi 11—13 13—15 15—17 17—19 | 19—21 | 21—23 | 23—25
(= #)
Cize Il iksres| 7 6 9 13 f 5 4

The following distribution shows the daily pocket money of children in a locality.
Mean, pocket money is Rs 18. Find the missing frequency.

Daily pocket | 11—13 | 13—15 15—17 17—19 19—21 | 21—23 | 23—25
money (in
Rs)

number of 7 6 9 13 f 5 4
children




T HANTA gTHS UID S1d DITY 5= et T IRT 365 B |

Find two consecutive positive integers whose sum of squares is 365.

3JAdT

T TP QT 3 B IR 191 =g 2 e o rs, diels § g1 8l iR
BT &FB 800 m? BI? IfT B, AT SHP oTHTs MR AISS ST BT |

Is it possible to make a mango orchard whose length is twice the width and its area is
800 square meters? It yes, find its length and width. [4]

; _ in3
Rrg v Az 2SI A n A

2C0os3A—CosA

SinA — 2Sin3 A
Prove that - ———— = tan A
2Cos3A—-CosA

AAUdT

g AR —24 1Y 4 95ecA

1+Sin A cos A

A S A
Prove that ——— + o = 28ecA [4]
1+S A cos A




